Roll-Rite.

Automated Covering Systems

36010 Spool Kit, Tarp Master Tarp Spool w/92" Housing

36020 Spool Kit, Super Duty Tarp Spool w/92" Housing

36060 Spool Kit, Tarp Master, Tarp Spool w/98" Housing

36070 Spool Kit, Super Duty Tarp Spool w/ 98" Housing

[36120 Spool Kit, Super Duty Xtreme Tarp Spool w/104" Housing

Spool Housing

Tarp Master, Super Duty 92”7, 98”, 104” wide



Roll-Rite.

Auhiomsted GovartagSystici Spool Housing

S5 |36010 Spool Kit, Tarp Master Tarp Spool w/92" Housingl

' = ||
, / - ‘|36060 Spool Kit, Tarp Master, Tarp Spool w/98" Housing

*~[36070 Spool Kit, Super Duty Tarp Spool w/ 98" Housing

Bom ID | Part# Description Spool Kit QTyY
1 36010 Spool Kit, TarpMaster Tarp Spool w/92 Housing - S/N: TM 1
2 36020 Spool Kit, Super Duty Tarp Spool w/92" Housing - S/N: SDX 1
3 36060 Spool Kit, TarpMaster Tarp Spool w/98" Housing - S/N: TM 1
4 36070 Spool Kit, Super Duty Tarp Spool w/ 98" Housing - S/N: SDX 1
5 36120 Spool Kit, Super Duty Tarp Spool w/104" Housing & Brackets - S/N: SDX 1

www.RollRite.com 650 Industrial Drive Gladwin, M| 48624 800-297-9905



http://www.rollrite.com/
tel:18002979905

Roll-Rite.

ey Covaag by Spool Housing

36010 Spool Kit, TarpMaster Tarp Spool w/92 Housing

D!

Bom ID | Part# Description Qry
Ref 36010 Spool Kit, TarpMaster Tarp Spool w/92 Housing - S/N: TM 1
1 10310 Gear Motor, TarpMaster w/3 Year Warranty - S/N: TM 1
2 36150 Housing, Spool 92" Aluminum Replacement Housing 1
3 31020 Axle, 91" Pre Threaded Aluminum Tarp w/stub shaft 1
4 31050 Bearing, 3/4" Flanged Axle Bearing with bolts/nuts 1
5 101501 Instructions, Front to Back Installation 1
6 18414 Washer, 5/8" Flat Zinc 8
7 18635 Nut, 5/8" Nylock Nut 4
8 18710 Bolt, 5/8" x 1 1/2" Bolt Zinc 4
9 18260 Bolt, 5/16" x 5/8" Button Head Bolt-Zinc Plated 5
10 11411 Wire, 16/3-Conductor -15ft 1
11 100743 Wire, 8 ga. Dual Conductor(55') 1
12 100650 Electric Kit, With 10698 Relay and Rocker Switch for 8 ga wire w/35 amp breaker | 1

www.RollRite.com 650 Industrial Drive Gladwin, M| 48624 800-297-9905



http://www.rollrite.com/
tel:18002979905

Roll-Rite.

Automated Covering Systems

Spool Housing

36020 Spool Kit, Super Duty Tarp Spool w/92" Housing - S/N: SDX

“\’j\\ A ) /y:/
Bl
&
f’?’}
@
@
Bom ID | Part# Description Qry
Ref 36020 Spool Kit, Super Duty Tarp Spool w/92" Housing - S/N: SDX | 1
1 10122 Gear Motor, Super Duty w/5 Year Warranty - S/N: SDX 1
2 36150 Housing, Spool 92" Aluminum Replacement Housing 1
3 31050 Bearing, 3/4" Flanged Axle Bearing with bolts/nuts 1
4 31020 Axle, 91" Pre Threaded Aluminum Tarp w/stub shaft 1
5 18635 Nut, 5/8" Nylock Nut 4
6 18414 Washer, 5/8" Flat Zinc 8
7 18710 Bolt, 5/8" x 1 1/2" Bolt Zinc 4
8 18260 Bolt, 5/16" x 5/8" Button Head Bolt-Zinc Plated 5
9 10914 Electric Kit, With 10698 Relay and Rocker Switch 1
10 36850 Bracket, Housing Gusset -pr- 2
11 11411 Wire, 16/3-Conductor -15ft 1
12 11338 Wire, 6 ga. Dual Conductor -85ft- 1

www.RollRite.com

650 Industrial Drive Gladwin, M| 48624

800-297-9905


http://www.rollrite.com/
tel:18002979905

Roll-Rite.

Automated Covering Systems

Spool Housing

36060 Spool Kit, TarpMaster Tarp Spool w/98" Housingl

=
-
L

// / g

=
T —
i

Bom ID | Part# Description Qry
Ref 36060 Spool Kit, TarpMaster Tarp Spool w/98" Housing - S/N: TM 1
1 10310 Gear Motor, TarpMaster w/3 Year Warranty - S/N: TM 1
2 36160 Housing, 98" Aluminum Replacement 1
3 31030 Axle, 97" Pre Threaded AL Tarp Axle w/Stub Shaft 1
4 31050 Bearing, 3/4" Flanged Axle Bearing with bolts/nuts 1
5 18710 Bolt, 5/8" x 1 1/2" Bolt Zinc 4
6 18414 Washer, 5/8" Flat Zinc 8
7 18635 Nut, 5/8" Nylock Nut 4
8 18260 Bolt, 5/16" x 5/8" Button Head Bolt-Zinc Plated 5
9 100650 | Electric Kit, With 10698 Relay and Rocker Switch for 8 ga wire w/35 amp breaker | 1
10 11411 Wire, 16/3-Conductor -15ft 1
11 100743 | Wire, 8 ga. Dual Conductor(55') 1
www.RollRite.com 650 Industrial Drive Gladwin, Ml 48624 800-297-9905

: 5@5‘-.


http://www.rollrite.com/
tel:18002979905

Roll-Rite.

Automated Covering Systems

Spool Housing

36070 Spool Kit, Super Duty Tarp Spool w/ 98" Housing

N ) @)\ = e
— ‘ Cy, 85
= ) 69/( L)
r N
{ P
G @ ¥

AV (@

Bom ID Part# Description Qry
Ref 36070 Spool Kit, Super Duty Tarp Spool w/ 98" Housing - S/N: SDX | 1
1 10122 Gear Motor, Super Duty w/5 Year Warranty - S/N: SDX 1
2 36160 Housing, 98" Aluminum Replacement 1
3 11411 Wire, 16/3-Conductor -15ft 1
4 11338 Wire, 6 ga. Dual Conductor -85ft- 1
5 31030 Axle, 97" Pre Threaded AL Tarp Axle w/Stub Shaft 1
6 31050 Bearing, 3/4" Flanged Axle Bearing with bolts/nuts 1
7 36850 Bracket, Housing Gusset -pr- 1
8 18260 Bolt, 5/16" x 5/8" Button Head Bolt-Zinc Plated 5
9 10914 Electric Kit, With 10698 Relay and Rocker Switch 1
10 18635 Nut, 5/8" Nylock Nut 4
11 18414 Washer, 5/8" Flat Zinc 8
12 18710 Bolt, 5/8" x 1 1/2" Bolt Zinc 4
13 36850 Bracket, Housing Gusset -pr- 2

www.RollRite.com

650 Industrial Drive Gladwin, M| 48624

800-297-9905


http://www.rollrite.com/
tel:18002979905

Roll-Rite.

Automated Covering Systems

Spool Housing

36120 Spool Kit, Super Duty Tarp Spool w/104" Housing & Brackets

Bom ID | Part# Description Qry
Ref 36120 | Spool Kit, Super Duty Tarp Spool w/104" Housing & Brackets 1
1 10122 | Gear Motor, Super Duty w/5 Year Warranty - S/N: SDX 1
2 36170 | Housing, 104" Aluminum Replacement 1
3 31040 | Axle, 103" Pre Thrd AL Tarp Axle w/Stub Shaft 1
4 31050 | Bearing, 3/4" Flanged Axle Bearing with bolts/nuts 1
5 18635 | Nut, 5/8" Nylock Nut 4
6 18414 | Washer, 5/8" Flat Zinc 8
7 18710 | Bolt, 5/8" x 1 1/2" Bolt Zinc 4
8 36850 | Bracket, Housing Gusset -pr- 2
9 18260 | Bolt, 5/16" x 5/8" Button Head Bolt-Zinc Plated 5

www.RollRite.com 650 Industrial Drive Gladwin, M| 48624

800-297-9905


http://www.rollrite.com/
tel:18002979905

